Answers to 1.1 Exercises
1.1 Exercise 2

1.
28.29

2.
107.96

3.
10.85

4.
69.80


5.
91.4 (approx)
6.
two isotopes approximately equally abundant

7.
22 neutrons. Other isotopes are lighter, and not very abundant
8.
a)
electron gun – fires electrons at atom, knocking out other electrons


b)
electric field – attracts ions towards it until all are traveling at same speed


c)
magnetic field – moving charges are deflected according to m/z ratio


d)
detector – ions land on it and create current proportional to abundance

9.
72 – peak with largest m/z ratio must be molecular ion peak

